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Exercises on : Classical general equilibrium theory
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- Is the function L1 a labor demand or supply function? Find the other labor function.
d)“}J\ L C?U\j cd\,oa.“ dAe (| a.b \ﬁ-‘}“ o wa\ -

- Calculate the real wage, the number of workers, and the output at equilibrium.
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- lllustrate the equilibrium graphically. If we assume an increase in the general price level, what
happens in the labor market?
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equation: S=200+100i, If it is known that the

investment equation is: 1=10-75i, and that DlazaY) Wsles O cuade 131 S= 200+ 1001
equilibrium occurs at an equilibrium interest
rate of i=3% A (@l 8B e die Bug Olsdl Oly J=1p-751
o Determine the form of the investment 1=3% .
function. Calculate the independent
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o Calculate both savings and investment at (i

equilibrium and represent them
graphically. Tl Leltos Oiled) Al (3 jLazmaVly sVl e JS o]
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- Determine the marginal production
function for labor and then derive the labor
demand function.

- Calculate the equilibrium real wage.
Determine the equilibrium number of
workers. Calculate the equilibrium quantity
of output.

- Calculate the general price level.

- Calculate the nominal output and nominal
wage.

- Determine the equilibrium interest rate,
investment (1), and savings (S). Calculate the
equilibrium consumption (C).

- If prices rise by 10 percent, what happens?
If interest rates decrease by 5 percent, what
effects occur on savings, investment, and

consumption?

V-10 M=200 Q = —0.5L? + 101 L + 4900

- Explain the nature of the given equations.

- Determine the marginal productivity
function, the labor demand function?

- Calculate the real wage, labor quantity , and
output quantity at equilibrium.

- Find the general price level, calculate the
nominal wage and nominal output(money).

- If labor unions demand a 10 percent wage
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